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OMB METAR U (Used: 152)

mean: 0.4955 rms: 1.6808 sid: 1.6061
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OMA METAR U (Used: 152)
0.0589 rms: 1.2342 std: 1.2328
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OMB METAR V (All: 327)

mean: 0.1967 rms: 1.2342 std: 1.2184
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OMB METAR V (Used: 155)

mean: 0.4150 rms: 1.7927 std: 1.7440
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OMA METAR YV (Used: 155)
mean: 0.3240 rms: 1.4943 std: 1.4587
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OMB METAR T (Used: 186)
mean: 1.2747 rms: 2.4476 std: 2.0895
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OMA METAR T (Used: 186)
0.9004 rms: 2.1502 std: 1.9526
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OMB METAR Q (All: 373)

mean: 0.9118 rms: 1.7661 std: 1.5126
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OMB METAR Q (Used: 182)

mean: 1.8687 rms: 2.5284 std: 1.7031
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OMA METAR Q (Used: 182)
mean: 1.4035 rms: 2.1885 std: 1.6792
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OMB METAR P (All: 381)
mean: -0.0728 rms: 0.8783 std: 0.8753
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OMB METAR P (Used: 185)
mean: -0.1499 rms: 1.2605 std: 1.2515
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OMA METAR P (Used: 185)

mean: -0.3397 rms: 1.1572 std: 1.1062
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